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’ e , | READ THE FOLLOWING DIRECTIONS CAREI‘ULLY
1 .iInfdddmc')n to thxs test booklet, you should have an answer sheet.
ER ;
% Eaic h 1tem in thls test has gour suggested answers lettered (A), (B), (C) (D) Read each itemyou. !
RS about to answer and dec1de which.choice is best.
P i
3. I On yourlanswer sheet, find the number which corresponds to your item and shade the space
e | havmg the same letter as the answer you have chosen. - Look at the sample item below —
| ' »
-Sa.mple Item - |1 ; %
i C o
-W nch o’f the followm0 dlseases is due to _ : E
| 4 ‘ a dxetary deﬁ01ency‘7 g ‘ Sample Answer b
NI | : ‘ : o
RE:VE Anaemla Y @ © @ g
(Bn Dlabetes . ) ‘
! Q). Influenza
3 (D) M'alana‘
.-The _be'st: answer to this item is “Aneemia SO answer space (A) has been blackened

LI ,{‘eu want to change your answer, be sure to erase your old answer completely and ﬁll in your

|
15" | I ne choice.
5 : W en you are told to begin, turn the page and work as quickly and as carefully as you can. If you
e f cannot answer an item, omit it and go on to the next one. You can come back to the harder item |
oo i later. Your score will be the total number of correct answers. ‘
6 . = Fig.lires Iare not necessarlly drawn to scale.
(7. I | _This’"tes* consxsts of 60 items. You will have 75 minutes to answer them.
ST .
8. 11 Do not be concemed that the answer sheet provides spaces for more answers than there are 1tems :
"1 in|this test '
;, fik DO 'NOT TURN THIS PAGE UNTIL YOU ARE TOLD 'I‘O DO SO.
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2. 'Whlch of the followmg statements aborjr_t l , =il FLL

1. {Two orgamsms were found in the same &
 tree. They were examined and their char- N “a food cham is true" '; ; L B
' acteristics recorded as shown in the table ' ' i p ok
' below. - (M) Energy from the, sun is transferred |
' = : ne b, from one orgamsm to sub<e,- { :

Y - 5 quent organisms. ;
N (B)  Each of rts members depends on .
heat energy obtamed 1drrec tly
o . from the sun. z ' o
i . (C) . Energy changes from onje type to 1
S
4

-

Hard exoskeleton

P R B

Antennae

another, thatis from heatto light

»

Wings |
to. chemical. | - .'

D) - The sun traps light energy atthe | |

P

‘| Segmented body

s remmgzesem oAt 577

' _ ~ start of the food cham' X B .
4 pairs of legs - \ X ;- | BRI IIRS
) l : i T
R e , . 3. Whrch of the followrng would be the'i COHE el
- Key Present |V Absent <l - BEST advice to give students wrshmg tol b
i L - set up an' -aquarium W1th a naturally i
: = balanced ecosystem? s b ' 34
. Which of mefollowmgstatements issup- ; X 1. KRR el
: . ported by ‘the information in the table? ) P‘“ in the same number of plants |
: _ and animals. | | v

LU e

(A) BothX and Y are insects. (B)  Leave out herbivorous fish wh;i,ch L
(8)  Both X and Y are arthropods but " would destroyithe plants. | . N
- (C) = Keepthe tank away from! drrecq bl e

- ‘ only Y i is an insect. !
L (C). Xisan insect but Y is not. v ) sunlight. f»i : o L
(D).  Neither X nor Y is an insect. ' (D)  Putina few scavenge rs SUC“.. as 10} Y
' _ : _ ’ water snails. o R B ¥
. Item 4 refersto relationships between some organisms. 8, : ‘ ol
= . : ; RSNy
. . i | R 1
L Bamncles on a shark’s back _ ’ . S ORI LR S
1L Shark]man P D SO P
11 Manlmalana protozoan : 4 " i ;e
Which of the following correctly 1dentrﬁes these relatronshrpsq- ' e
¢ : i
1 - | G FUNEED | G L
. : . i &7 : ! | Cobo
4. (A)  Commensalism Predator/prey , Mutualisni‘ J coby o A
.(B) : Commensalism Predator/prey Parasmsm S T i
L (C) ~ Predator/prey Commensalism Mutuahsm RS N O e L
T (D)  Predator/prey - Mutualism. -~ S Parasmsm o RO [ |
[ L 2
i R D A I et | OO I
‘~. s lv Sy b ‘ ;‘. i '[i
i . g S

_nRTmee
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i frefersI to. the] followmg mforma- : Items 6 - 7 refer to the followmg graph
f itién‘i ' i R ' which shows the activity of two enzymes
, N } o !- - ~ in the human digestive system. |
B ZAN isa group of organisms with the : R
i followmg features i

Enzyme 4
’ ‘ activity
| 2 — A B’ody d1v1ded mto two parts - head

¥ : and segmented abdomen

s — . One: parr of appendages on each

Enzyme I «

g aodommal segment
_ IyIQumjpﬂts}aFaptedfOTsucking 123 45 6 7 8 9 10pH

6. Which of the following could be iinzyme -
' I1?

(A)  Pepsin

(B) Renin-
. : o i (C)  Trypsin

5 (D)  Ptyalin

- j I n o :
s H 7 Enzyme I will function BEST in the
H ‘ '%Fxgurell : S
R ‘ . (A) mouth

: Whlch of the followmg orgamsms in i (B) . stomach
' Flgurt 1§ above w0u1d belong to the group © small intestine
ZANAX'? 'f g (D) large intestine

!

N (A) 11 onty
S| ® | Ienly
41 (© | 1and I only
bt (D)-: IIandIVo'nly

i
!
[ i ' ! ! :
i i i :
el $° 4 i
i i !
I i | i
i:! 3 H i
fi i ¢ !
| | !
b ! i I
il ! | ;
A 5 '
i 4 { B
| ? 5
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. i !
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-4- | T
ftems 8 - 9 refer to the following diagram 10..  During pregnancy, the developing foetus . -
‘which represents ananimal cell seen with receives from its moth;ér' proitcéﬁob g

the electron microscope. Some cell struc- ~ against infections, a perfectly balanced
' tures are labelled (&) - (D)- v o, diet, warmth and oxygen. Which of the?f: i
' ' S : .., cana mother no longer prfbvidc for her

new-born infant? . - |

{: .
E o
it e

ITOTRNETITEPT, e et
R R P
<] 3

(A)  Oxygen e i
- (B) Food ." 1{

) Antibodies |

@ Wamth

it

b

® B RN C T e O
1. Which of the following would be found
in the urine of a healthy person? R

(D) 1. - Urea

1. Glucose . !
111, . Amino acids |
IV. Mineral salts i

el

i e ammm e ries S . _
TN s paeEi T e BT

*When you are answering items 8 - 9a
particular choice from the above may be T - —
made more than once, once or not at all. (A) TandUI only i
S ey (8) IandIVonly | S R

~ Which of the structures : , v () - W andIVonly | . i
' ’ D) I,II,‘IIIandIfog ]

DR PRCEI Bt

" 8. is responsiple for energy p;oduc‘tion’? ;

&=
~r 5 i azdmetone o et e,

9. consists mainly of water? - T
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; Itern sl..iZ <13 re_:fér to the following information.

1Gain/mg <

Normal weight of potato cubes

i ®

i es . 1 15 2 o i

i : Cbncentration-of salt solution/%

gt Six potato cubes, (U, V, W, X, X, Z), of equal weight were putmto six dxfferent concenu-auons of |

v 'sal; water for two hours. They were removed and excess water wiped off. They were weighed
. jand results plotted on the graph above :

?

The process tha’ﬁ was investigated is 13. Cubes X, Y and Z show a decrcasc in
' ! : _ , weight. The BESTexplanatxon forthisis
(A) ,  réspiratibn ; _ that ;
(B)’ . Oosmosis; ' ' . ] :
(C),' dxffuswn ‘ (A) water molecules moved from the

D) hydrolysns : ' ' ' potato cubes to the solution *
e .4 . o (B)  mineral salts moved from the .

, ' potato cubes to the solution :

| : _ (C) some of the starch moved from |
. : ] the potato cubes to the solution |
it o £ ; . (D)  some of the starch.was converted |
i to soluble sugars

1

Af er;bellng in an axrcondmoned room for 15.  Which of the following MOST directly |

'haf :an lhour, '.whlch of the' following . controls increase in sxze mthe flowering |
{4 changes would take place in the skm" ' plant? o ’
(A) - Vasodllatxon and i mcrease in heat (A) Light .
S Nosst ] : © (B)  Auxin
B) " Vasoconstriction and ‘increase in (C)  Carbon dioxide
g sweatmg (D)  Oxygen ;
(C) . Vasoconstnctlon and reduced ' . i
I [ sweating :
65 Vasodilation and decrease in heat

loss ‘?

| : GO ON TO THE NEXT PAGE |
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| Jtem 16 referstothe following diagramof 17.  Respiratory enzymes are MOSTLY]| 1o g3

cated in the i

the humain‘f female reproductive system,
with structures labelled (A) - D).

ere s S e

(A)  cilium

(B)  nucleus
- (C)  alveolus ! !
D) mitochondrion : : ERER LA 11

18. A girl looks up from%;be book fslpg xls v
’ reading outdoors at 2 flock of birds in ...
. flight. Which of the following isMOST i

~ likely to occur within her eyes? bl L

(A)  The pupils getlarger
8)  Thepupils remain the same. |
(C)  Thelenses become less jcor{yex o
(D)  The lenses become more ‘convex. . ||

16. Where ,dioes developmént o‘f-thg..foetus
..occur? et ,

: N
S R N PO £ P
lustrate how an'investi gation Into :

Items 19 20 refertothe following diagrams; XandY, whichﬂ
a metabolic process was setup. , v , ‘ il
L T ' " RS T gl

__,Potassiu';m : , e _
'hydroxid’e S e ST

—
fmoh cod e

mpvha I =
AR

- Before: t_he-éxperim?:‘;nt was set up uie:. il
plants were plaéedfi_ﬁ;a_datlcicupb sard for 1| i) -

19.- The aim of the investigation was tosee 20
four hours. This'step: Wfas i

W ' the effect of potassiumhydroxide - about twenty-
f ~ " on the growth of plants ' " necessary to,
(B) ' the effect of water on the growth - ey - R T

: : (A)  reduce the quantity of sugar pro-. -

- of plants R : A |-
(C) = ifcarbon dioxide is necessary for o duseq dupx;qg.phqto;y,n lsm‘c;"'sf'- g

* photosynthesis , (B) allow: the pl}a;nt to get its stojt-ef:of;; e

(D)  ifoxygenis necessary for photo- . carbon dioxide AR

ey tl%esis . ary P - (C) '~ ensure thatjany s'}tarchlptr}od uced ‘|

5 , _ ' was removed from the leaves

x T, o
Do Wtz gt Y 1

ie

(D) : stop further ireduc_:inon'-of,'c:,z}rb‘or\f A
- dioxide to barbol?ydrat‘e.-'% B

|
1
L N L s
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L
. (B)

Th.; pa
o dlaphr.
f (A)
- (B):
i ()
(.D)

,f'(le!)’

I

’ Wthh

(C)

BIGE. N
3+ Which
Eied fi )
. tions 1i
:moved.

(A)

ing —

Plung

j rubbler bung

f plun'ger
; hqusing N

s

: Items 21-28 refex:' to the following diagram
: nodel showing how breathing takes place.

Y7z

onﬁ

4

',lh_;_:\.'

Tt __Sf the model which represents the
Agm is the '

balloon '

R
of thg followmg would eccur when
nger is moved in the dlrectlon of the

shown in the!dxavram'7

The balloon will expand
| A vatuum wili be-created.

; The volume of the apparatus will de-

crease.

‘I The | pressure within the housing will ‘

[increase. ||
p'art of the respiratory system func-

ke the balloon when the plunger is
? i

A]veolus |
Bronchus *
Dmphrag
Trachea

i
!

‘mg /100 cm™

(©)

!
{
I

Which of the following graphs represents |
blood sugar level in a normal individual |

after taking a meal that i 1s hxgh in carbo- |
hydrates" _ ‘ !

Blood sugar

A

et
N

Blood sugar
mg /100 cm3

®)

| - N

| 58]
TN Sk

<Y

‘Blood sugar
mg /100 cm=3

Blood sugar
mg /100 cm=3

®)

i 4 ]
i 1) 1

- Time/hr

it ]
N
W
£<S

GO ON TO THE NEXT PAGE
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25,

26

27.

@

-8~

' After vigorous exercise, the muscles

involved show 2 marked increase in the
conceritration of

(A) : glucose

glycogen
- lactic acid
‘citric acid .

(®)
©.

Which of {he following are important in-
. the diet for development of strong bones
~ and teeth? '

- Calcium and iron

" Phosphorus and iron
Vitamin C and calcium

- Phosphorus and calcium

(&)
®)
©
o)

The main ‘fun’ction-of cartilage at the end

of long bones is to

©(A) lubricate joints

(B) ' increase flexibility
(C) : reduce friction
(D)- ' protect nerves

28. ‘Which of the following graphs E

" illustrates the growth
dark?

" Seedling
) peightiem

|
v
i

of seedlings|in the.

®
.( ) height/cm |

Seedling | | - ]

L Seedilng

© height/cm |

5 | 100
Time/dgys |

(D) . Seedling
- height/em |

. i

Time/days |
T

GO ON'TO THE NEXT PAGE
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An mdlyild ual wears glasses (spectacles)
vath .on'vex lenses because

(A) his 'eyebal:}s are of irregular shape

(B) || his|lenses are becoming cloudy

(C) 1| images form behind the retina
») 1nsufﬁc1ent light is entermg his
P pupxls
i |

P | o . .
{1 Items30-31 referto the following section
i through a kidney, with parts labelled (A)
to (D). | ; ,

(A)
- ®B).
- (©)

(D)

i
|

v Match each of the items below with one

olf thtIa partsl labelled .above, each of which

H may be. used more than once, once or not

~a; all.

4!
l i

Site of uririze collection
bl b § i

! i
! |
i Slte;of osmoregulation

i

¥ "] Whlc h.of the followmg is NOT a reason
B /hy plantsl depend on ammals" )

fl( Po}lmauon
i 4 (}3) :Dlspersaliof fruits and seeds
' "':’ © ~“Carbon dioxide ‘

(D) Ox:ygen

33,

34,

35.

, (D) Artery

The following are descnpnons of blood
vessels.

‘I. Thin wall, large lumen, takes
blood away from organs and tis-
sues’ '

II.  Tiny, thin-walled vessel adapted
for diffusion; close to cells

HI.  Thick wall, small lumen, takes"

blood to organs and tissues

Which of the following scquénces cor#
rectly identifies the blood vessels de-

‘scribed above?

I | o | o m

(8) | Artery | vein | capillary
®B) Vein capillary| artery
©) ‘Capillary | vein | artery

,cfapillar)} vein

The diagram below representsa seedling
that has been growing in the. dark

The plumule of the scedling is showing a

(A)  negative response to gravity
B negative response to light
© positive response o gravity
(D) positive response to light

A plant organ is a fruit if it

(A) contains an embryo

(B) stores food for the embryo
© has a tough outer coat

(D)  was formed from an ovary

GO ON TO THE NEXT PAGE
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Itemn 36 refers to the diagrams below which show components found in h‘;dman blood.
.
| , ! | i
| : i
36. . LI and III respecuvely are . | B i 0
(@A) j Erythrocyte lymphocyte - phagocyte 5 ‘ ol ':
. (B) - Phagocyte =~ erythrocyte lymphocyte = A A S 5
.. (C) . Phagocyte lymphocyte erythiroeyte ‘ b PR T
¢ (D). - Lymphocyte erythrocyte - ‘phagocyte : |
: Hi o v ‘ ‘ | ; i
- _ - - - ] : ; L4
37.°  Whichofthe fellowingparts ofaleafdoes - 39.  On what type of day is thle rate of t!rans- |
Z NOT contain chlorophyll? - plratxon likely to: be lowest? AR i
(A) - Caticle R (A)  Cooland siu‘nn.y B | !
.(B) - Guardcell - _ (B) Clopdy an&i%wmdy | i ;
(C)  : Palisade layer , - (C) -~ Hotand windy | B
D) Spongy layer- b ' (D) . “Cloudy and cool | SR IR t’E
Item 38 refers to the folldw.ing diagramof -  40. The ;edctants in ae;rbbic riespifat'ibp are - : ;[ ’
afefléxa‘rc-Withpartslabelled(A)to(D). o - ! PR
o (A) water and carbon dloxxde Wb 1%
38. thch part takes messages to the central _ (B)  water and oxygen|
” nervous system? . = (C)  glucose and oxygen . :
' (D)  glucose and carbon dioxide;
41. Some plants, such as Bryophy]lumﬁ'
Yol (Wonder-of-theworld) canbepropagaledlg ‘
from buds at the leaf margm The buds:i| il
develop into complete plantlets whilestill || . : JL .
attached to the leaf:margin. These plants || -
. also flower and produce seeds i Thc@f i
development of the p]antlets and thc seed !|
(A)  both take place by mitosis
_ (B) - both take place byme:o’sns <A
by _ (C) take place by mxtosxs forthe seed || R
ol T SR, : . RN R and meiosis forthe plantletsa‘ |
: ’ ' ' ' (D) take place by me1051s  for | the-;seed.‘i
and rmtosxs for the plantlels; O
GO ON'TO THE NEXT PAGE
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D)

L ®)
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i

i :h;,of the following,combipations of

hromosomes is found in the nuclei of

reproductivé cells of humans?
| In|the male In thefemale
L (A) XY B 44
i4B). XX XY
- (C) YY o | XY
1 (D) XY XX
| : .
| Afte sﬁta ying mosquitoes in a particular
| are'cjrwuh }he same insecticide:for a long
. the msecuc:de lost its effecnveness
Tmé vias MOST fikely due to
art'lﬁol_al selection '
development of resistant forms
: of the mosquitoes '
‘use of msufﬁment quantities of
msectlcxde
change in- concentratlon of the
1nsectlclde
? |Wh ch of the followmg results from
' i genetic engmeerng'7
Sl ! 2
& '(A) An organ ism may show new traits.
E (B) NFW characterlsucs are created.
B (C) ﬂfferen organisms are created.
A (D) Artlﬁcm ly made organisms may
_ evo]ve
A ‘man ith‘n;ormm vision married a
{woman ‘who also had normal vision.
Some of their chlldren were colour-blind.
- [To: what lsex would these colour-blind
; chlldren belong"
I(A) Iflcannot be predicted.
i |(B)] - Female only.
; (C)|. - ‘Both male anad female.
v I\)Iale only ’
" {Which of the followmg structures con-
. (tains'the factors that control the cell char-
.|| |acte nsncs'7
1(A) Mltochondnon
o Oell membrane
(@) Chlor0plast
Chromosome
Lo

-11'=

47..

. 48.

49.

Mutations provide a basis for evoluhonary
changes because

| (A) they lead to a decrease in the

: number of alleles ?
(B) they lead to an increase in the |

number of alleles
(C) . the majority: of mutant genes are
harmful - '
(D)  the majority of mutant genes are
Tecessive

Structure Q below represeots e'body cell.

g
Which of the following would represent

the nucleus of a gamete.from the same
organism?.

(A) @ | |
(B) | .
5 ' i |
D) . :

Item 49 refers to the following information.

It is possible to produce new carrot plants

from a few cells from a mature carrot. i

Which.of the following is NOT a part of the
process described above?

(A) Cloning

(B) Mitosis

© Meiosis s
D) Tissue culture

=

~ s
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50,

B

: Item51 fefers tothe foliowing methods of

(G i anv’antitoxin.

-12 -

An ‘animal which carries a disease- 53.
causing organism but is' not adversely
affected by:it is known as a :

(A).  host
(B) " - vector
(C) = parasite
(D) ' pathogen

disease treatment/control. .

L Inipioved personal hygiene

Species| 1| 2|3 |4 |5]|6/|7]'8] 9]

II.  Isolation of persons with the dis-
. ease
III.  Good sanitary practices e.g..
proper garbage disposal
IV. - Careful food prcparation _

it

Thcse methods are used in the treatment/ '

J O W

18121136 3|lio] 3|| 1|}5] 5

10| 18]46| o|i12 |10l 8 |i2 |16

[o SR =)

e

control of a disease that is
54,
(A) . inherited -
(B) ' infectious _ ~
(C). - caused by inadequate supply:of .
“nutrients '

(D) . caused by malfunction of body

systems

A new disease, fatal to human beings, 55,
was discovered in a farming community. '
Another mammal was also found to show

some symptoms of the disease. Serum

from the :blood of these mammals was

given'to those persons in the community

who did not yet have the disease. This

was an example of '

(A)  infecion = 56,

(B) : transfusion

(D) . aniimmunization .

(A)  density onlyf

D) " frequency énd cover.

(D) terracing of land

The information injthe ta’ble‘c_an be'.'uségd to
-calculate = : SRRt :

(B)  frequency only S
(C) ! density and frequency_

‘The area in which the quadrat ont
throw fell ig probably ; ‘

(A)‘ under a large tree |- ;
(B)  close to a source of water
(C)  avery sandyiarea St
(D) closeto a-'w'aflk.Way. :

NN RN A B - _ LB NN : - =

Soil fetility may BEST be increased inithe
~ short term by the : A

(A) ro‘ta'ti'on_ofcrbps | A il
(B)  addition of manure| ;
(C)  addition of lime

i

1
i
'

el a W at i ol e Re s Lk Lol STt SIRPRNE 5

e‘ 3rd ’

' J cablow

| 1

i

L e

When a person recexves a vacc me‘ hxs/huer )
mununc system IS snmulated to p:oduce RN
(A) antxgens i -
(B) anubnouc?}
(C)  antibodies, 2
(D) antito’xinsi b
 Items 54 = 55 refer to the foilo;\é/ing table | }
. | l g L s

[ N 3

No. of Th}ows ofi a'Qua‘drm :
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:Itéms 57— 58 are based on the followmg
mformatlon and table.’

0 Durmg the dry season, some -5th form

: A students icompared the properties of the

sonls in the school’ s long jump pit, on the
'+ i footpath! near’ ,the school and in the
5 ,;school sigarden. They obtained the fol-

lowing results.

Soil x|y 2z
1 % air o |40 30
. , % Walor | 2] 10 35
%l;Watc;:r retairfléd_ 60 | 20 | 40
: : ‘%’Lqrg'e particfles 30 | 70 | 70

ol theA
(A)
L ®)
5@

D

/IF YOU FINIS

i ISoj s_‘X., Y and Z came respectively from

fa otpathl long jump p1t school

garden:
school garden, long jump pit,

: footpath

footpath school garden, ]ong

; Jump plt

lolng Jjump plt footpath school

" garden :

g I’ho soil types of D(, Y and Z respectively

,cl‘lxyey, loamy, sandy
loamy, sandy, clayey
sai dy, loamy, clayey
jcla) ey, sz!mdy, loamy

l
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59.

~ 60.

Items 59 - 60 refer to the followmg dla—

TP,

gram which was included in a student’s |
record of an ecologxcal study of a pond.

The shaded areas MOST likely represent

(A)
(B)
©
(D)

a

(A)

(B)
(&)
(D)

-’/‘
L—T" |
e . .
7
N k.
<1lm—+

.sampling areas
squares in the net

transects
troughs

. Ifthe study were carried out along the lme :
A to B, this section could be described as .

quadrat
ribbon
track
transect

H BEVORE TIME IS CALLED, CHECK YOUR WORK ON THIS TEST.
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